**Stochastic instrumentation** 

# **Stochastic instrumentation**



### **Previous limitations**

- Static instrumentation is expensive (and affects accuracy)
- With performance counters:
  - How could we find hot spots?

(small groups of instructions that the application spends a lot of time running)

• What about performance counts (cache misses, mispredicted branches,...) at those hot spots?

### Solution

Stochastic instrumentation:

- every N cycles (e.g. every 1,000,000th cycle / every 0.1ms), a sample is taken
- the sample records:
  - which instruction is currently being executed
  - optionally, what it is waiting for (instr. decoding, pipeline bubble, memory access, ...)
  - optionally, instruction addresses of the last few branches
  - optionally, whether those branches were successfully predicted

### **Stochastic instrumentation**

### • Pros

- no performance penalty
- no interference with normal execution
- accuracy naturally increases on hotspots

### • Cons

like performance counters, needs hardware support

## **Analysis applications**

- Linux
  - perf record / perf report
  - KDAB hotspot
- MacOS: Apple XCode Instruments
- Windows: Visual Studio ("dynamic instrumentation" / "collection via sampling")
- Intel-specific: vTune
- AMD-specific: uProf

### **Bottom-up analysis**

📉 Inte	l VTune Profile	r									
VT	P + 🗅 🕹	Welcome × r018ue ×									
<b>V</b> .	🕶 🖿 LPopt	Microarchitecture Exploration Microarchitecture Exploration - ③ 🛱									
_	r000p	Analysis Configuration Collection Log Summary Bottom-up Event Count Platform									
	r001ue1	Grouping: Function / Call Stack									
뮵	r002ue	Function / Call Stack	CPU Time 🔻	Clockticks	Instructions Retired	CPI Rate	Retiring	Fro			
	r004b										
$\triangleright$	r00Eb	▶ p_1gs_Ax_1	223.864ms	300,000,000	1,198,800,000	0.250	32.5%				
	10051	▶ p_2gs_Ax_2	214.773ms	270,000,000	2,712,000,000	0.100	76.8%				
Ø	r006h	p_spx_dual_violated	193.182ms	254,400,000	1,929,600,000	0.132	43.5%	<u></u>			
	r007h	▶ func@0x92e0	87.500ms	264,000,000	261,600,000	1.009	41.3%				
<b>~</b> ~	r008h	p_spx_dse_update_w	84.659ms	112,800,000	1,429,200,000	0.079	73.2%				
	r009h	▶ p_1gs_Ax_2	84.091ms	108,000,000	906,000,000	0.119	89.9%				
	r010h	▶ p_btrt_el	81.818ms	112,800,000	528,000,000	0.214	24.1%				
	r011h	▶ p_vec2_tmsub	80.682ms	134,400,000	1,194,000,000	0.113	31.2%	<u></u>			
	r012h	p_spx_dual_full_leaving	70.455ms	133,200,000	100,800,000	1.321	37.2%				
	101211	▶ func@0xa3a0	51.705ms	168,000,000	362,400,000	0.464	76.6%				
	r013ue	p_spx_compute_row_sib_dai	51.705ms	81,600,000	298,800,000	0.273	23.3%	<u>  -</u>			
	r014ue	p_bfrt_select	49.432ms	61,200,000	408,000,000	0.150	48.6%				
	r015ue	▶ p_map_qlookup	42.045ms	46,800,000	61,200,000	0.765	8.3%	-			
	r016u	p_spx_dse_update_xB	40.909ms	57,600,000	457,200,000	0.126	45.4%				
	r017u	▶ p_told_iter	33.523ms	0	162,000,000	0.000	15.1%				
	r019uo	p_vec_z_scatter	29.545ms	50,400,000	228,000,000	0.221	31.1%	3			
	TOTOUE			0.000.000	FF 000 000	0.405	or one				
	▶ ■ LPopt2	Q: + - 🗉 🖉 🛛	s 0.2s 0.4s	0.6s 0.8s	1s 1.2s	1.4s	1.6s	1			
	Matmul	P Ipopt (TID: 260660)									
	r000p		A REPORT OF A R								
	r001ue	È gzip (TID: 369688)									
	r002ue	amplxe-runss (TID: 369669)									
	r003ue	Ipopt (TID: 369688)									
	r004uo										
	100408										
	r005ue										
63											
203		CPU Time				-					
0		FILTER 🝸 100.0% 🦹	Any Process 🗸	Thread Any Thread	✓ Module 4	Any Module	~	Call			



## Flame graphs

AMDuProf - [C:/Temp/AM	MDuProf0	2-2019_17-03	3- <mark>05.db</mark> ]							) X
HOME	PRO	FILE	SUI	MMARY	_	ANALY	ZE		SETTI	NGS
Profile Samples	Counters	CPU clocks	Process I	3628	Show Fla	amegra 🧲	S	earch function name		Clear
Call Graph Samples	LdrpS LdrpPr LdrpW	kern Create Create Create ExecP ECWo FindFi BatLoop BatProc(s ECWork(s FindFixAn Dispat	C Co Safe Safer Safer dRun(str ch(int,st	Lur Ldrp LdrpG LdrpG LdrpH LdrRe LdrRe LdrRe LdrRe LdrRe LdrRe LdrRe LdrRe LdrRe LdrRe LdrRe LdrPH LdrpH	L L L     			RtlpActivateLown   RtlpActivateLow   RtlpAllocateHeapp   I   RtlpAllocateHeapp   I   RtlpAllocateHeapp   I   I   RtlpAllocateHeapp   I<	L Ldr L LdrpMa LdrpMa LdrpMa LdrpFin LdrpFin LdrpLoa LdrpLoa LdrpLoa LdrpLoa	
	TppW	_mainCRTStartup BaseThreadInitThunk				ntdll.dll!0x7ffb	d8fafa45			
						LdrpInitia	alize			
	RtlUserThreadStart						LdrInitialize	Thunk		
						[]	ROOT			



## Matrix multiplication

We want to implement a fast matrix multiply code for medium-sized matrices (e.g. 1024 × 1024).

Download matmul\_0.c and implement the code of the function matrix\_multiply().

Then, find performance issues and, if possible, improve the implementation.

```
void matrix_multiply(double *x, const double *a, const double *b)
{
    for (int i = 0; i < SIZE; i++) {
        for (int j = 0; j < SIZE; j++) {
            x[i * SIZE + j] = ...;
        }
    }
}</pre>
```

#define SIZE

1024

### **Byte stream filtering**

We read (from standard input) a stream of bytes as unsigned 8-bit integers.

We want to filter those integers, and write (to standard output) only some of them. Specifically, we write those who are divisors of 873248763249102240.

Download filter\_0.c, and implement the code of the function filter().

Then, find performance issues and, if possible, improve the implementation.

```
size_t filter(unsigned char *out, unsigned char *in, size_t n)
{
    size_t s = 0;
    for (size_t j = 0; j < n; j++) {
        unsigned char c = in[j];
        // TODO: keep only divisors of 873248763249102240
        out[s] = c;
        s++;
    }
    return s;
}</pre>
```